
 
 
 
 
 
 
 

Set 3 Code 59/2/3 

Section Question 
Number Answer 

A 

1 A) Both Statement-I and Statement-II are true. 

2 A) Boris Yeltsin 

3 B) Both (A) and (R) are correct, but (R) is not the correct explanation of 
(A). 

4 A) Internal disturbances 

5 A) India's nuclear program was started in 1952 under the guidance of 
Homi J. Bhabha. 

6 C) Socialist Party 

7 C) Electronic Voting Machine 

8 D) Shimla, 1972 

9 A) (iii) (i) (ii) (iv) 

10 D) (i), (iv), (ii), (iii) 

11 B) Kyoto Protocol 

12 B) Development practices 

 


